

# C. SWAPINWA

3.11

1.  $x^2 y^2 - e^x + \cos y$

$$\frac{\partial}{\partial x} = 2xy^2 - e^x + 0 = y^2 - e^x$$

$$\frac{\partial}{\partial y} = x \cdot 2y - 0 - \sin y = 2xy - \sin y$$

2.  $x^2 \cos y^2$

$$\frac{\partial}{\partial x} = 2x \cos y^2$$

$$\frac{\partial}{\partial y} = x^2 \cdot (-\sin y^2) = -x^2 \sin y^2$$

3.  $\ln \frac{1}{y}$

$$\frac{\partial}{\partial x} = \frac{1}{x}$$

$$\dots \ln x \cdot \frac{1}{y} \quad \ln x \cdot \ln y$$

$$\frac{\partial}{\partial y} = -\frac{1}{y}$$

4.  $y^2 e^x$

$$\frac{\partial}{\partial x} = y^2 e^x$$

$$\frac{\partial}{\partial y} = 2y e^x$$

$$y = y^2 e^{2x}$$

$$5. \frac{y-2}{x+1} \dots (y-2) \cdot (x+1) \dots (y-2)^{-1} \cdot (x+1)^{-1}$$

$$\frac{d}{dx} = (y-2) \cdot (-1) \cdot (x+1)^{-2} = \frac{-y-2}{(x+1)^2}$$

$$\frac{d}{dy} = \frac{1}{x+1}$$

$$6. \sin(x^2 y^2)$$

$$\frac{d}{dx} = 2x \cos(x^2 y^2)$$

$$\frac{d}{dy} = 2y \cos(x^2 y^2)$$

$$2. x^2 \ln y^2$$

$$\frac{d}{dx} = 2x \ln y^2$$

$$\frac{d}{dy} = x^2 \cdot 2 \cdot \frac{1}{y} = \frac{2x^2}{y}$$

3.2

$$1. \frac{d}{dx} x y^2 - e^x + \cos y \quad \frac{d^2}{dx^2} = -e^x$$

$$\frac{d}{dy} = 2xy - \cos(y) \quad \frac{d^2}{dy^2} = 2x - \sin(y)$$

$$\frac{d}{dx} = 2xy$$

$$\frac{d}{dy} = 2xy$$

$$2. x^2 \cos y^2 \quad \frac{d^2}{dx^2} = 2x \cos(y^2) \quad \frac{d^2}{dy^2} = -4xy \sin(y^2)$$

$$\frac{d}{dx} = -2x^2 y \quad \frac{d^2}{dy^2} = -2x^2 (\cos(y^2) + 2y \sin(y^2))$$

$$\frac{d}{dy} = -4xy \sin(y^2)$$

$$3. \frac{d}{dx} \ln \frac{y}{x} \quad \frac{d^2}{dx^2} = -\frac{1}{x^2} \quad \frac{d^2}{dy^2} = 0$$

$$\frac{d}{dy} = -\frac{1}{x} \quad \frac{d^2}{dx^2} = \frac{1}{x^2} \quad \frac{d^2}{dy^2} = 0$$

$$4. y^2 e^{xy} = \frac{d}{dx}$$

$$\frac{d}{dx} = y^2 \cdot e^{xy} \cdot y = y^3 e^{xy}$$

$$\frac{d}{dy} = 2y \cdot e^{xy} = 2y^2 e^{xy}$$

$$\frac{d}{dx} = y^3 \cdot e^{xy} = 3y^2 \cdot e^{xy} \cdot x = 3y^2 x e^{xy}$$

$$\frac{d}{dy} = 2y \cdot e^{xy} + y^2 \cdot e^{xy} \cdot x = 2y e^{xy} + x y^2 e^{xy}$$

$$2x^2 y + 2y e^{xy} x + 2x^2 y \cdot y^2 e^{xy} = 2x^2 y^3 e^{xy} + 2x^2 y^2 e^{xy} x + y^2 x^2 e^{xy} = e^{xy} (2x^2 y^3 + 2x^2 y^2 x + y^2 x^2)$$

$$5. \frac{y-2}{x+1}$$

$$\frac{d}{dx} = \frac{y-2}{(x+1)^2} = \frac{2(y-2)}{(x+1)^2}$$

$$\frac{d}{dy} = \frac{1}{x+1} \cdot 2 = \frac{2}{x+1}$$

$$\frac{d}{dy} = \frac{y-2}{(x+1)^2} = -\frac{1}{(x+1)^2} \cdot (y-2) = \frac{1}{(x+1)^2}$$

$$\frac{d}{dy} = 0$$

$$6. \sin(x^2 + y^2)$$

$$\frac{d}{dx} = \cos(x^2 + y^2) \cdot 2x$$

$$\frac{d}{dy} = -\sin(x^2 + y^2) \cdot 2y = -2y \sin(x^2 + y^2)$$

$$\frac{d}{dx} = \cos(x^2 + y^2) \cdot 2x = 2x \cos(x^2 + y^2)$$

$$\frac{d}{dy} = -\sin(x^2 + y^2) \cdot 2y = -2y \sin(x^2 + y^2)$$

$$7. x^2 \ln y^2$$

$$\frac{d}{dx} = 2x \ln y^2 \quad \frac{d}{dy} = x^2 \cdot 2 \cdot \frac{1}{y} = \frac{2x^2}{y}$$

$$\frac{d}{dy} = 2x \ln y^2 \quad \frac{d^2}{dx^2} = 2x \cdot \frac{1}{y^2} = \frac{2x}{y^2}$$

$$3.3 \quad 1. f(x,y) = x^2 + y^2 - xy - 2xy$$

$$\frac{d}{dx} = 2x + 0 - y - 2 + 0 = 2x - y - 2 = 0 \Rightarrow 2x - y = 2$$

Ans

$$\frac{\partial}{\partial y} = 0 + 2y - x - 0 + 1 \Rightarrow 2y - x + 1 \Rightarrow x = 2y + 1$$

$$\frac{\partial^2}{\partial x^2} = 2 \quad \frac{\partial^2}{\partial x \partial y} = -1$$

$$\frac{\partial^2}{\partial y^2} = 2 \quad \frac{\partial^2}{\partial y^2} = -1$$

$$H \begin{pmatrix} 2 & -1 \\ -1 & 2 \end{pmatrix} = 4 - 1 = 3 \rightarrow \text{EXTREMUM}$$

$$\frac{\partial}{\partial x^2} > 0 \Rightarrow \text{MINIMUM}$$

$$3) f(x, y) = -1(x-y) - x^2 - y^2 = -x - y - x^2 - y^2$$

$$\frac{\partial}{\partial x} = -1 - 2x = 0 \quad x = -\frac{1}{2}$$

$$\frac{\partial}{\partial y} = -1 - 2y = 0 \quad y = -\frac{1}{2}$$

$$\frac{\partial}{\partial x} = -1 - 2x = 0 \quad x = -\frac{1}{2}$$

$$H \begin{bmatrix} -2 & 0 \\ 0 & -2 \end{bmatrix}$$

$$2) f(x, y) = y \frac{x}{2} - 2xy - 5y$$

$$\frac{\partial}{\partial x} = \frac{y}{2} - 2y = -\frac{3y}{2}$$

$$\frac{\partial}{\partial y} = x - 2x - 5 = -x - 5$$

$$H \begin{bmatrix} -\frac{3}{2} & 0 \\ 0 & -1 \end{bmatrix}$$

$$\frac{\partial^2}{\partial x^2} = 0 \quad \frac{\partial^2}{\partial x \partial y} = 2y + 3$$

$$\frac{\partial^2}{\partial y^2} = 2x$$

$$H \begin{pmatrix} 0 & 2y+3 \\ 2y+3 & 2x \end{pmatrix}$$

$$\begin{pmatrix} 0 & -3 \\ -3 & -4 \end{pmatrix} \Rightarrow 0 - 9 - 9 = -18 \Rightarrow \text{NEUTRAL EXTREMUM}$$

$$8 \begin{bmatrix} -2 & -3 \\ -3 & 2 \end{bmatrix}$$

$$5 \begin{bmatrix} 2 & 0 \\ 0 & 0 \end{bmatrix}$$

$$4. f(x, y) = (2x^2 - 5)(y + 1)$$

$$= 2x^2 y + 2x^2 - 3y - 5$$

$$\frac{\partial}{\partial x} = 4xy + 4x - 0 - 0 = 4x(y + 1)$$

$$\frac{\partial}{\partial y} = 2x^2 + 0 - 3 - 0 = 2x^2 - 3$$

$$H(x, y) = \begin{bmatrix} 4y+4 & 0 \\ 0 & 4x \end{bmatrix}$$

$$\frac{\partial^2}{\partial x^2} = 4y + 4 \quad \frac{\partial^2}{\partial x \partial y} = 4x \quad \frac{\partial^2}{\partial y^2} = 4x$$

$$\begin{pmatrix} 4 & 4 \\ 4 & 0 \end{pmatrix} = 0 - 16x^2 = -16 \sqrt{\frac{3}{2}}$$

$$S \begin{bmatrix} \sqrt{\frac{3}{2}} & -1 \end{bmatrix}$$

$$L 0$$

$$\hookrightarrow \text{NEUTRAL EXTREMUM}$$

$$5. f(x, y) = x^4 + y^4 - x^2 - 2xy - y^2$$

$$\frac{\partial}{\partial x} = 4x^3 - 2x - 2y = 0$$

$$x = 1$$

$$\frac{\partial^2}{\partial y^2} = 4y - 2 - 2x = 0$$

$$2y = 2 \quad y = 1$$

$$m \begin{bmatrix} 1 & 1 \end{bmatrix}$$

$$\frac{\partial^2}{\partial x \partial y} = 0 + 0 + 0 - 1 - 0 = -1$$

$$\frac{\partial^2}{\partial y \partial x} = -1$$

$$H \begin{pmatrix} 1 & -1 \\ -1 & 1 \end{pmatrix} = 1 - 1 - (-1) \cdot (-1) = 0$$

$$6. \quad 2x^2 - 6xy + 5y^2 - x + 3y + 2$$

$$\frac{\partial}{\partial x} = 4x - 6y + 0 - 1 + 0 + 0 = 4x - 6y - 1$$

$$\frac{\partial}{\partial y} = 0 - 6x + 10y - 0 + 3 + 0 = 6x + 10y + 3$$

$$4x = 6y + 1 \quad -\frac{6}{1} \left( \frac{6y+1}{4} \right) + 10y + 3 = 0$$

$$x = \frac{6y+1}{4} \quad y = -\frac{3}{2}$$

$$x = -2 \quad [x, y] = \left[-2, -\frac{3}{2}\right]$$

$$\frac{\partial^2}{\partial x^2} = 4$$

$$\frac{\partial^2}{\partial y^2} = 10$$

$$\frac{\partial^2}{\partial xy} = -6$$

$$\frac{\partial}{\partial xy} = -6$$

EXTREM = MINIMUM

$$\begin{pmatrix} 4 & -6 \\ -6 & 10 \end{pmatrix} - 4 > 0$$

$$7. \quad (x, y) = xy(4-x-y) = 4xy - x^2y - xy^2$$

$$\frac{\partial}{\partial x} = 4y - 2xy - y^2$$

$$4y - 2xy - y^2 = 0$$

$$4x - x^2 - 2xy = 0$$

$$\frac{\partial}{\partial y} = 4x - x^2 - 2xy$$